ALGEBRA I EXAM 2.2
1. Sketch the graph of (a)
y = -|x + 3| – 1 

      (b) y = -(x + 2)2 – 4 

2.
Identify the intervals where the function is

(a)
Constant


(b)
Increasing


(c)
Decreasing
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3.
Given functions f and g, perform the indicated operations:

f(x) = 6 – 8x
g(x) = -4x + 8



f – g 
4.
List the intercepts of the graph:
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5.
Find f(-2) when f(x) = x2 + 8x.
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11.
Graph the inequality -3x – 5y ≤ -15

12.
Graph the system of linear inequalities: 
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2x+ 3y <6
x—y=3




13.
Find the nth term of the sequence:


(a)
-2, 7, 16, 25,…


(b)
80, 40, 20, 10,…

14.
Let the graph of f(x) be the following:
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Sketch the graph of -f(x – 1).  Be sure to label the critical points.

15.
Sarah is selling bracelet and earrings to make money for summer vacation.  The bracelets cost $5 and earrings cost $2.  She needs to make at least $600, and she needs to make less than 50 bracelets.  Graph a system of inequalities to show all possible combinations that Sarah can make.
16.
A mountain in Butler County is eroding and losing elevation at a rate of 5% every 2 millennia. If the current elevation is 1,200 meters, how tall will the mountain be in 8 millennia?  (If necessary, round your answer to the nearest whole number).
17.
A sequence is defined recursively by the equation an = an – 1 + 2, where a1 = 8.  Define the sequence explicitly.

18.
Eric buys a bike.  The value of the bike after being owned different numbers of year is shown in table below.  Write an exponential function that models the value, V, in dollars of the bike after t years of being owned.

	Numbers of Years Owned
	Value of Bike

	0
	12750

	4
	6655.58


